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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.
2. Attempt all questions.

3. All questions carry equal marks.

4. Answers may be written either in English or in Hindi; but the same medium should
be used throughout the paper.
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1. (a) “Wealth maximization is a better criterion than profit maximization.” Do you
agree ? Explain.

(b) ABC Ltd. has the following capital structure :
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Particulars Amount (Rs.)
Equity share capital (1,60,000 shares of Rs. 100 each) 1,60,00,000
12% Preference Shares 16,00,000
10% Debentures 24,00,000

The equity shares of the company are quoted at Rs. 110 and the company
is expected to declare a dividend of Rs. 15 per share. Rate of growth of
dividend is 8%, which is expected to be maintained.

(i) Assuming the tax rate of 40%, calculate WACC using book value
weights.

(i) The company wants to raise the additional term loan of Rs. 20,00,000

at 10%. Calculate the revised WACC assuming the market price of
equity shares has gone down to Rs. 105. (5+10=15)

OR

(a) “Financial Management is concerned with the solutions of three major decisions

a firm must make.” Explain this statement highlighting the inter-relationship
amongst these decisions.

(b) XYZ Ltd, has the following book value capital structure

(Rs. crore)
Equity Capital (Rs. 10 each) 15
12% Preference Capital (Rs. 100 each) 1
Retained Earnings 20
- 11.5% Debentures (Rs. 100 each) 10
I : 11% Term Loan - 125
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The next expected divided on equity shares is Rs. 3.60 per share, the dividend

per share is expected to grow at 7%. The market price per share is Rs. 40.

Preference stock, redeemable after 10 years, is currently selling at Rs. 75
per share. Debentures, redeemable after 6 years, are selling at Rs. 80 per

debenture. The-income tax rate for the company is 40%.

Calculate the weighted average cost of capital be using (i) Book value weights
(i1) Market value weights. (5+10=15)

(F) “o e, A Afteraia ¥ S8R Y BidT 2 17 1 3 S8 qEAd
2 ? =R Hif | )

(@) ABC fafies & $oft weamn feefoRaa 2

IECy] (')

FEE IR TN (100 ® @ 1,60,000 IRK) 1,60,00,000

12% S 3R ~16,00,000 | ,‘
10% R3=R | ©24,00,000

HEN & SFadt AW 110 & ¥ Iqall & 3R Fo0 A lss.uﬁﬁmamfsrﬁﬁa
oy o &t SFTT 2 1 anTE A gfe | 8% 2 e T YR W Y A smn
2

(i) 7 & B o w 40% 2 | TF A TR H FANT dd WACC &l aReerT
T |

(i) T 10% T 20,00,000 & 1 AfaRaa mafer == a1 TEd 21 98 g
R i S dud @ WR e W w105 T A S R, R
WACC o1 9Repei= Shiloig |
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(@) XYz ffiee &t g% aog IOt & 39 TR B

AT T A
radt Tof (10 & 9@ W) 15
12% 9t Afer= 9ot (100 & @) 1
afoenRa 20
11.5%3@%&—1:1(100§ma) 10
11% 3mafes =w 12.5

ST WA o™i Sl A W 3.60 & ufd IR 2 1 Uiy AR AT & sga
7% B & N ? | Ui AW SR S 40 ® 7110 99 9© uied JRmE @i
T W 75 T W R @ Raw A i @ 21 6 9§ we wea IR 80 © wh

RFR A RRAE @2 o @ o s & e 40% 21

Tt o IR sltad T 1 aREe (i) 96 A R R (i) SR Ao R

e ¥ AR

2. AC Ltd. has just installed Machine X at a cost of Rs. 4,00,000 having a useful
life of 5 years with no residual value. The annual production is estimated at

1,50,000 units which can be sold at Rs. 12 per unit. Annual operating costs are

- .. costs are estimated at Rs. 6 per unit (excluding depreciation) for the same level

of output.

estimated at Rs. 4,00,000 (excluding depreciation) at this output level. Fixed
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The company has just come across another machine Y having same useful life and
capable of giving same output. Annual operating cost is expected at Rs. 3,60,000
(excluding depreciation). There will be no change in fixed cost. Capital cost of

the machine is Rs. 5,00,000 with nil residual value.

The company can sell the machine X at Rs. 1,00,000 but the cost of dismantling
and removal will amount to Rs. 30,000. The operations with Machine X have

not yet started and the company wants to sell Machine X and purchase Machine
Y.

AC Ltd provides depreciation under straight line method. Assume corporate tax

at 40%. The cost of capital may be assumed at 14%.

(a) Advise whether the company should opt for replacement.

(b) Will there be any change in your view if Machine X has not been installed

but the company has to select any one of the two machines. (15)
OR

RS Ltd. wants to replace its labour intensive manufacturing facility. The company
is evaluating a project to install a machining system. It is estimated thatl system
will result in annual saving of Rs. 4,50,000 in wages, Rs. 1,50,000 in supcrvisory
cost, Rs. 50,000 in material losses during production, Rs. 40,000 in-inventory

cost and Rs. 30,000 in other operating costs.

The machining system is likely to cost Rs. 7,50,000 and will require an installation
cost of Rs. 50,000. Its useful life is estimated at 5 years. To operate the system,
the company requires the services of two trained operators at an annual salary
of Rs. 1,50,000 each. Its annual repairs and maintenance cost is likely to
Rs. 40,000. Assuming corporate and capital gains tax rate uniformly at 35% and

the required rate of return at 12%, it is required to calculate :

PT.O.




552

6

(i) The relevant cash flows of the machining system
(ii) Payback period
(iii) NPV

(iv) The relevant cash flows, payback and NPV assuming the machining system
can be sold for Rs. 50,000 at the end of 5 years when its book value is

supposed to be zero.

(v) The relevant cash flows, payback and NPV assuming that the depreciated
book value of the system upon termination at the end of fifth year will stand
at Rs. 50,000. However, it will not fetch anything i.e. its sales value will be
Zero. (15)

AC RoifiRe ¥ =@ € ¥ 4,00,000 T 9 &RE W X 7 A e e & foaeht swani
g 5 ad ¥ ok sl T T ¥ | T WEET S SFEa: 1,50,000 FHE BN
R 12 & WY afic & Ram A J0 W FRW | T I TR W A6 Feed a0
SR 4,00,000 T (0 &4 H Fiopet ) SUEN | T IeqEA TR R R A0
FTAEE: 6 T R aFe ¥ (T T e W) |

FHEN T TE SR W Y R 2 et IwEnlt g w0 2 SR W FEE I 3 @
& a2 | T AT AR 3,60,000 € B W S 2 (AET WAl B W) |
A AR X A RadT A8 BRm | w9 T wEE 5,00,000 ® € SR sEfine

ESECEN

HEN X FERT A 1,00,000 T ¥ 3 Feheht & W TAD IOl D IO A IR T F TCH
W 30,000 T @ AN | AT X T welier I T € T8 oA T € SR e 54w
X @l 9 I AR B aﬂtwﬁ#Yﬁaﬂmmﬁ%n

AC Tafits @it e Rl ¥ v o A waen o 1A A R wE R 40% B 0
Tl & e A W 14% AT FE T




552

&
(%) wome AR & = wo = i fees & J9 o iR |

(@) e faem ¥ o g aRaee 8t Wen At X w9 ot wnfie w8t forar T @ wg
HO A T A WA N A R g g R

Aqdr

RS foifite st s -wem fwior gfaen =6 wfoenfie e amdt @ 1 FO T wEe
YR <h! T et &t URASHT o Aediche e W& 8 | V1 I # o 2| women @
if¥e 4,50,000 & N s=a ASERA A, 1,50,000 @RG T it qRaww AFTa A, 50,000 ®
o I & SR AEE B A, 40,000 T S WO AW # 31 30,000 T =
T R & S B |

T YR B A A 7,50,000 T B 3R FhR! AT A F AW 50,000 ® R
TAH ITARN ST g S a9 B | T YUl & WS A O ol o WINfATT eIt
o A3 A SraTEE BE e 9 1,50,000 Wiy =fE Bhm | gaet afte weet
3R TEEE H ARE A 40,000 T 8RR | 98 WA o TR Tolte SR Tl @ @
T A ® A 35% B 3R difod afewd | 12% 7 1 IR i -

(i) ¥ vomeR 1 WG A VAE
(i) o T wE W Ef
(ii) NPV

(iv) e Aehg vams, Far awdl 3R NPV a8 AHa ff 7 womett =t 50,000 &
5 a§ 9TE S W1 hdl 8 W 39 g dod I B qEh B |

(v) @a Achg vamE, TE aqd 3R NPV I8 AFa {6 diad are & 3id o qomen it
T TR g a4 50,000 T BRN | T TEA hE W TE B6M redier gwH
el IearegrE BN |
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3. (a) What are similarities and dissimilarities between NPV and IRR ? Which of
the two methods will you prefer when they give different ranking of investment

of proposals ? Why ?

(b) A textile company belongs to a risk class for which the appropriate P/E ratio
is 10. It currently has 50,000 outstanding shares selling at Rs. 100 each. The
firm is contemplating the declaration of Rs. 8 dividend at the end of the
current fiscal year which has just started. Given the assumptions of MM,

answer the following questions :

(1) What will be the price of the share at the end of the year (i) if dividend

is not declared (ii) if divided is declared.

(2) Assuming that the firm pays the dividend, has a net income of
Rs. 5,00,000 and makes new investments of Rs. 10,00,000 during the

period, how many new shares must be issued.

(3) What will be the value of the firm (i) if dividend is declared (ii) if
dividend is not declared. (5+10=15)

OR 1

(a) Define cash flows. How is it different from profit ? Explain the superiority of

cash flows in investment decision making.

(b) The following information is supplied to you, about LK Ltd. :

Earnings of the company Rs. 15,00,000
Dividends paid Rs. 5,00,000
Number of issued shares 1,00,000
Price earnings ratio 10 “&
Rate of r‘eturn on investment (%) o | 15
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(i) Determine the theoretical market price of the share as per Walter’s
Model.

(ii) Are you satisfied with the currenf dividend policy of the firm ? If
not, what should be the optimal dividend payout ratio in this
case ? Find out the price of the share at that dividend payout
ratio. ‘ (5+10=15)

(%) NPV 3R IRR ¥ TMa 3R SEAFaR 1 € 7 3 & wiat ot fafodll =6t s
TEe wA v R A e o & FEw v @ wasy = ?

(@) v daeTsed wUl Wikaw a0 ¥ i 8 R forg Suge P/E squ@ 1081 5@
THE TER M 50,000 SeHET AW T W 100 T 9 B Faw ¥ e @ 0w
T AHDINT T o A W §T T A AU et ot Al Bt 2 S o
TE E 21 MM & IRl & smar ® FefoRaa vl & S i

(i) o & 3@ ¥ IR A A w4 B Al (i) A At T A w9 (i)
AT Wit o fear W

(ii) 7E TR e ot i 39 2, e faw s 5,00,000 & # 3K @ sty
¥ 98 10,00,000 T & 74 AW @ 2 w@gy B e 7g A @ Ao
T AR |

(iii) w9 o1 qeq @ B AR} (i) e et o fRar i @ (i) @ aifte
& forar S 2

Jteddar

(&) Aehg warE o qRI ARAT | A A F5 forw wER B B @ 7 R e ol
A A WaE & FAGAT S AR HWT |
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(@) LK fafis = ar & st Fe=forfan aomm & o &

T A A
T AN
it ) @t e
TG A FAAA

faw w afawa @t | (%)

15,00,000 &

5,00,000 =

1,00,000

10

15

(i) areer e & FFER WR F! Agifon TR HF o1 Freior i |

(i) =ar 37w S HegET AT AT F G T 7 AR A8 A @ ha A g

AL A SIS FA0 B <A ?

I AT SFAA FAE R AW A O 7 0T |

4. (a) How does Gordon’s Model differ from Walter’s Approach to relevance of

dividends ? What are their similarities ?

(b) The cost sheet of PQR Ltd. provides the following data : |

Cost per unit
Raw material Rs. 50
Direct Labour 20
Overheads (including depreciation of Rs. 10) 40
Total costs 110
Profits 20
Selling price 130
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(2)

(b)

11

Average raw material in stock is for one month. Average material in work-
in-progress is for half month. Credit allowed by suppliers: one month; credit
allowed to debtors: one month. Average time lag in payment of wages is 10
days; Average time lag in payment of overheads is 30 days. 25% of sales are
on cash basis. Cash balance is expected to be Rs. 1,00,000. Finished goods

lie in the warehouse for one month.

You are required to prepare a statement of the working capital needed to
finance a level of the activity of 54,000 units of output. Production is carried
on evenly throughout the year and wages and overheads accrue similarly.

State your assumptions, if any, clearly. (5+10=15)

OR

Explain stable dividend policy. What is the significance of stability of

~dividends ?

X Ltd. currently makes all sales on credit and offers no cash discount. It is
considering a 2% cash discount for payment within 10 days. The firm’s
current average collection period is 60 days, sales are-2,00,000 units, selling
price is Rs. 30 per unit, variable cost per unit is Rs. 20 and éverage cost per

unit is Rs. 25 at the current sales volume.

It is expected that the change in credit terms will result in increase in
sales to 2,25,000 units and the average collection period will fall to 45
days. However, due to increased sales, increased working capital
required will be Rs. 1,00,000. (It does not take into account the effect on
debtors). Assuming that 50% of the total sales will be on cash discount and
20% is the required return on investment, should the proposed discount be

offered ? (5+10=15)

BELO.
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() aiE it qeiEwd & Y ST ASA he YER decd U ¥ e 2 7 T
FAFAN w8 7

(@) PQR ffids =t o He ¥ FfeRag sitws W 2 €

wn wfd e
hedl AT 50 =
L U 20
JaRera (10 T o9 TG ! M Feh ) 40
HA A 110
| 20
IEERRCIUR] 130

Wi A Tl A A 1 WE @ forg 7 1 v wifa A wrneht s W @ o 2
T gR SUR R Srer ? 7 ww & fog; IRt @ *fte R W @ v W
@ forg; wogRA A s ¥ stee 10 R o 20 A 2 1 SuReA A s
¥ staa 30 BT @ 30 B 21 25% e e IR W AR 21 Ao A
1,00,000 & B & AN B | FAR A WeR Y& X 1 WE & forg wwr waw 2

JMIHR 54,000 I & Iz At A B TR D FTER 9 9 TN snawaend
& g o daR T B | IRT W WA O A A { A ? 3R AsqgRar
IR a9 &9 & I9RE 8 ® | 39t TURons &6, afe @ A, W w9 A o
I |

Jr=par

() for arwiw AT 2t =men A | aT S Tl @ = e 7 7




552 | 13
(@) X ffes s ov o fafdl SUR Wt & SR Ads w1 M &, 75 10 R =& ﬂ
HiR FEEEt @ g 2% A 921 3 | AR o) @ ? | w9 siEae o 93 G

gty 60 far & 2 1 fafwat 200,000 g & 8, faswa dv 30 = wf afe @, a

qRadt @wr 20 = Wiy gfie ® ok deer fwa st w s o i ghe

25 % R B ' |

W smn Y W ? R wiRe A Tl A aRadw & weraew R # gfe 2,25,000
et = B ok e TS ST T w45 R A e | A, fa F wav
B & wRol, aftfa w@Ede o 1,00,000 T 8RN | (8 IHER W WNE & T
R ¥ & A ?) | 77 AR & A B A 50% A% 92 W B Sk Faw
R aifa wRwa 20% BRT | SARY B @ wenfad g A W Wiy 7

5. (a) What are the factors affecting the cash needs of a firm ? L

(b) The capital structure of Z Ltd. consists of 35,000 equity shares of Rs. 100
each. The authorized capital of the company is 60,000 shares. For the financial

year ended 31.3.2016, particulars of production, cost and sales are as

follows :
Units produced and sold (@ 80% level of activity) 50,000
Selling price per unit Rs. 20
Variable cost per unit Rs. 10
Fixed operating cost per unit Rs. 4

In view of emerging opportunities arising out of globalization, Z Ltd. decided

to utilize full capacity to meet the additional demand for its product. This

would however involve an additional capital of Rs. 15,00,000. As a result J—
of utilisation of full capacity, variable cost will be reduced by 10% but fixed i
cost will go up by 10%. The additional output can be sold at the existing
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selling price. The possible alternative sources of finance for the required

additional capital would be
(i) entirely by equity shares of Rs. 100 each
(ii) entirely by 6% bonds of Rs. 500 each or
(iii) 50% by equity capital and 50% by 6% bonds of Rs. 500 each.

Assuming a corporate tax of 40%, which of the alternative financing scheme

do you recommend ? Also, calculate all the leverages and comment.

(5+10=15)
OR
(a) Explain the factors having a bearing on working capital needs.
(b) The existing capital structure of RST Ltd. is as follows :
Particulars Amount (Rs. lacs)
Equity shares (Rs. 100 each) 40
Retained Earnings 10
9% Preference shares 25
7% Debentures 25
Total 100

Company earns a return of 12% and the tax on income is 40%. Company
wants to raise Rs.25,00,000 for its expansion project for which it is

considering following alternatives :

(i) Issue of 20,000 equity shares at a premium of Rs. 25 per share
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(i) Issue of sufficient number of 10% preference shares
(1) Issue of sufficient number of 9% Debentures

Projected P/E ratios in the case of equity, preference and debenture financing
are 20, 17 and 16 respectively. Which alternative will you consider to be the

best ? Give reasons for your choice. (5+10=15)

(%) & TN AEaTIHAT Fl TR FA G HReE w41 R 7

(@) z fafids it 9ot = & 100 T a1 35000 Rt [ 2 1| wh A sfergpa Tt
60,000 IR =t B 1 31.3.2016 T T §Q fachg af @ fog Saen, @nE, sk

st = faor 5@ yoR &

IS qar At T IR AN T (Afhaer B 80% R A W ) 50,000
faswa =@ vy gfe 20 %
9Readt @nm@ wfa gfie 10%
A FAET A 9 e 4%

AR T FRU IO FAE h e ¢ Z Fofee 7 9@t erar @ swe e
w1 P fhan @ wifs S S @ g sfiRem wiw @ off o o1 @@ | T
@ 15,00,000 T &% SR ol w0 | IwEw qof e ¥ A B wROTEREET
Rt AN 10% & B I WY WA A 10% 9 WeE | sifaRed Seae
=t Aorer fasa e W A= o o ? | sifRe ol 9 stavaear @ e wnfaw
Yehfeqss AT A 2 :

(i) wfa: 100 & ot et IR gw

(i) gofa: 500 = @t 6% et g

(iii) 50% SRt Folt 3W 50% 500 & AW 6% S TR |

TE AR 6 FFN T 40% 2, 319 Fra g Qe 9 ReRa w0t ? @ &
TN IIA 1 IRepe Hifve 3R oot SR |
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3reran
() e Goft St STawEharst F T F AW BRI SR |

(@) RST fofis =it witser $olra weat =9 v 2

faazor T (oa = HA)
sl AW (100 & ) 40
wiceRa s 10
9% R AR 25
7% Ra=R 25
KL 100

FEA 12% Fwe SiRTa @t 8 ok IEa s W aR 40% 2 1 e e el

qRAET & IR 25,00,000 T FEET T G § fres Riw 9 Al e
R faR & @ 2

(i) 25 = wiRRR W@T ® 20000 SREA IR @ 71 T |
(i) war A= A 10% A R A W W
(iii) waTT A= H 9% R = T |

Fdl, Sftrr s Re=R a7 o @ 29 % wafte P/E AT wAL: 20, 17
3R 16 ¥ | 39 for ey =) a9 sreT WY & 7 N gEE & forg wRer e
HIfTT |
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